128l B H KT 2ENN

¥ 2 ABE YA X2 o) chel: HE, £, %, $/kg
o 20074 12¥ 20074 128 (%4) SHE(EE) SHE(FA) FEEIHEA)
= = = = 2o == 2o [ 2= | =29 | == | o006 | 20074
EH 1,085,633|  210,823] 13,473,057| 2,659,273 52| -4.8 1.8 1.0 5.02 5.07
1 == 217,359 33,288 2,787,814 455,988 -17.4| -19.7] -2.3| -8.6 5.72 6.11
2 o|= 132,014 25,97¢] 1,731,808 350,627 -14.2| -10.2] -13.2| -3.6 5.49 4.94
3 M| = & 90,664 14,052  1,067,178] 154,008} 16.4| =26.0] 255| 223 6.75 6.93
4 32 64,180 9,322 891,946 138,547 -11.6| -22.0 4.4 2.5 6.32 6.44
5 el | Alo} 62,936 8,534 762,354 108,726 -0.7| -4.2 4.6 2.9 6.90 7.01
6 Uz 46,690 7,751 642,980 97,130  -12.4 1.1 -5.8| -1.8 6.90 6.62
7 |otgtoloja|E gt 41,087 7,125 387,701 68,247 45.5| 544 141| 18.2 5.89 5.68
8 E{7| 22,651 3,615 271,306 49,236 29| -17.2] 156| -5.6 4.50 5.51
9 = 21,509 5,421 270,046 63,097 -8.7( -1.3] 21.1| 17.0 413 4.28
10 | AtElotzit|o} 18,914 2,915 269,314 45,930, -5.8| -21.7 4.3 3.6 5.82 5.86
11 e|m 17,353 3,820 245,849 51,77 -29.7 | -14.0] -16.3| -3.2 5.49 4.75
12 ahE| et 13,368 2,020 194,785 29,4100  -33.5| -34.2] -26.9| -31.3 6.22 6.62
13 =apd 18,133 4,698 194,145 44,398 453 37.9] 51.1| 29.8 3.76 4.37
14 ZYA 12,696 1,592 181,058 22,01 -152| -8.6| 33.8| 33.2 8.18 8.22
15 JEC 15,793 3,042 173,434 39,095 3.1 —29.2] 135 11.2 4.35 4.44
16 Zte oot 13,520 5,424 163,741 63,808 0.7 g.2] 326 109 2.15 2.57
17 o= 11,579 3,193| 155,303 42,434 -3.5| -12.6 9.9 10.0 3.66 3.66
18 Ef = 11,890 2,893| 149,785 33,251 -1.6| 25.0 25| 10.9 4.88 4.50
19 2{Alof od gt 11,585 3,158' 147,478 43,362 1.1 -11.3 45| -6.9 3.03 3.40
20 AT 13,004 3,103| 139,382 34,162  -13.4| -16.9] 19.7 4.3 3.56 4.08
21 WAl R 11,820 2,863| 130,911 33,117 16.2 8.2 4.4 1.2 3.74 3.95
22 elc|ok(el ) 11,287 4,228| 123,346 49,951 58.5| 31.9 22| -4.7 2.30 2.47
23 CH g 11,039 2,584] 121,342 27,761 0.7 0.4] -15.7| -21.4 4.07 4.37
24 gt 2e] Al 8,715 1,220 120,212 19,2070 -12.5| -28.5) -12.1| -11.7 6.29 6.26
25 Fhetct 9,998 1,491 117,954 23,328} -1.7 -21.7] -10.1| -16.0 4.73 5.06




28 2 MRE FUMN (Ak9] 257)3)

¥ 2 AEE BEA XE ¢ ciel: HE, E, %, $/kg

s 20074 12¢ 2007 122 (%A) SHE(EE) SUEEA) ek P(Tﬁl)
= = Er == Er == o | 2z | 2% | 22 | 2006 [ 20078
& 693,292  111,598] 8,928,904 1,451,193 99| -39 11.1 4.2 5.77 6.15

1 = 403,806 67,967] 5,641,374 862,260 9.3 24| 15.1 8.7 6.18 6.54
2 o| k2ot 49,767 594 519,292 7,498 | 155 -21.4 8.9 —23.0] 48.96 | 69.25
3 oz 46,382 5,529 439,486 62,592 | 16.6| 1.9 4.0 5.4 7.12 7.02
4 ol U|Alof 16,288 4,981 263,987 89,065 | -13.4| -28.1 4.9 2.0 2.88 2.96
5 M| £ 17,118 5,139 252,963 74,867 29| -43] 31.7| 263 3.24 3.38
6 o|= 19,529 2,589 247,557 30,108 | 18.8| 23.9] 12.8| 20.0 8.75 8.22
7 elc|ot(el E) 19,883 6,405 246,418 78,350 | -9.3| -16.1] -14.2| -16.8 3.05 3.15
8 cH gt 12,285 4,214 157,504 66,921 | -10.4| -35.5] -09| -7.0 2.21 2.35
9 Ef = 7,133 1,379 110,556 26,897 | -11.8| -33.4] -10.9| -11.0 4.10 4.11
10 7| A ek 9,525 4,032 106,427 47,916 | -11.9| -19.6] -13.1| -16.0 2.15 2.22
11 A 8,117 84 95,566 1,402 | -20.7| -24.6| -16.0 29] 83.53 | 6817
12 = 9,302 792 83,389 7,278 | 43.4| 26.7] 12.8 6.3] 1080 | 11.46
13 o= 4,973 440 71,583 6,289 | -2.8 31| -10.5| -31.6 8.70 | 11.38
14 2rE2|o} 5,292 1,587 69,414 23,970 | -5.7| -22.0] 19.1| 136 2.76 2.90
15 23 3,368 104} 56,662 1,853 | -50.4| -36.3] -20.6| -22.6] 29.82 | 30.57
16 22| o| x| of 3,228 767 46,284 13,278 | -3.1 -8.6 1.6 -12.6 3.00 3.49
17 E{7| 3,890 146] 42,235 2,614 | 56.9| 257] 11.7 6.0] 1533 | 16.16
18 Hgd2t= 1,259 165| 36,814 2,664 | -61.1| -28.7 0.0 71| 1480 | 13.82
19 ook} 847 109| 30,423 2,649 | -33.8 55| 651| 623] 11.29 [ 11.49
20 etk 2,048 311 29,329 4,748 | -27.7| -29.4 2.5 6.8 6.44 6.18
21 de| 1,507 130 28,808 2,608 | -0.1 71| 69.3| 72.4] 1125 | 11.05
22 e ES 2,792 39 23,608 361 -0.8| -40.6] -05| -46.6] 3511 | 65.34
23 WA= 1,084 35| 23,205 1,126 | -31.6| -75.0| 18.4| -21.1] 13.74 | 20.61
24 25 2,455 194| 19,848 1,765 | 43.2| 103]| 148| 144] 1121 | 11.24
25 A ol 1,417 76] 18,556 1,003 | 204 429] -27.1| -50.9] 12.46 | 18.49




